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Questions

H e & Suen # o B

Battery cells are connected in series to

(A} U &THET a8 / increase the current capacity

(B) 3FTYT deear F Fald g / increase the output voltage

(C) HIARS YEORIUCAT & FH F=T o / decrease the internal resistance
(D) HBCYE aloedT I FH ¥ g / decrease the output voltage

S URT A7 deed H A A AG WHT de F AN & 3T FA
aToeT FaeT g &, A wEd §
The value of alternating current or voltage that has the same heating effect as
a corresponding dc value is known as

(A) R A / peak value

(B) @y & Rr@x I% &1 AW / peak to peak value
(C) 3iwas A / average value
(D}

DY rms A / rms  value

(U]

TR SN A ool B GEA WO SIS U AT A eIy R e & ar
WA L gEfr

If the number of tums in a coil is doubled in the same length and area, the
inductance L will

{A)} g1 / double

(B) =TT / quadruple

(C) ®AWT |aT & / remains the same
(D) 3mem B § / be cut in half

R WET T H A0 ps A A TE A swRr smgfea gl

If a Sine wave has a period T of 40 ps, its frequency is

(A) 40 kHz
(B) 250 kHz
(C) 25 kHz
(D) 2.5 kHz

Page 2 of 18




Question Booklet Series -A

T GUTRA S T ST & T 10 deed & 100 pC ¥ a9 F Hzid
FenclT & a SO TIAr 1 & g
A capacitor that can store 100 uC of charge with 10V across its plaies has a

capacitance value of

A) 0.01 pF
B) 0.1 pF

C) 10.0 pF
)

(
(
(
(D) 1.0 uF

120 @ F TA AU Ry H T % & folw 360 Q IaUe & BT FAG A
Thael gfal T SIS gen?

How much resistance must be connected in parailel with a 360 Q resistor to
obtain an equivalent resistance R, of 120 Q ?

(A) 180 ©
(B) 460 O
(C) 1.8 kO
(D) 320 © |

TF 30T yadE & 100 ¥ FANS ofew A dum 0.1 & mERw faur aEdw A, &
3T CMRR &7 87

A differential amplifier has a differential gain Ay of 100 and common mode
gain A;of 0.1. What is its CMRR?

(A) 10 dB
(B) 20 dB
(C) 30 dB
(D) 60 dB

500 Hz #r ®igae gfed aum 10 kHz &1 3mdfe fouest ®fegd o 3mafea
AZAT Hhe 7 ATgeeT GEhF Fr §?

What is the modulation index in a frequency modulated signal with a
modulating  frequency of 500 Hz and frequency deviation of 10 kHz?
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Notch filter is

(A) =9 Theex / Band pass filter
(B) foiT U= freeX / Low pass filter
(C) 3=a 9= et / High pass filter
(D) % Fsi feey / Band stop filter

10

L & @U@ & & @ v LC 9Ruy & @ 3ngfed 31 gaem ol & fag,
e @i AT AT

To double the resonant frequency of an LC circuit with a fixed value of L, the

capacitance must be

(A) T& Tl FH =T / reduced by one quarter
(B) 3meT $H AT [ reduced by one-half
(C) G- & / doubled

(D) =T T / quadrupled

11

FAL & dIAA T TF Al 5308 F 30y fave s §7

What is the barrier potential of a silicon diode at room temperature?

(A) 1.0 V
(B) 0.3 V
(C) 0.7 V
D) 12V

12

greTar e & &7 & 5w 39 &7 sudhr fear siar &7

Which diode is used as a voltage regulator?

(A) R =915 / PIN diode

(B) o&eY ZAE / Varactor diode
(C) ST 3T / Zener diode

(D) TaF 3AUE / Tunnel diode
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FEUAN TG, R HET o, SHe ¥

The main advantage of CMOS is its

(A} 3T 33T 4vl / High power rating
(B) < Thd waTereT / Small signal operation
(C) fEa=e=r &3e7ar / Switching capability
(D) AT Fa7 @IT / Low power consumption

14 fafomler EefT fosesrT (SCR) & AHwIa: garT are] RRaT ST @
Silicon Controlled Rectifier (SCR) is usually turmed on by
(A) e 30ET / break over
(B) e f&R / gate trigger
(C) whaTaeT [ breakdown
(D) 4RT F URT FIA §C / holding current
15| wrageHAT &t % TorT 393 fRar airar §
Sphygmomanometer is used '
(A) &&Z PR &I Sirg s / for checking blood sugar
(B) T & T AT &= / for checking blood pressure
(C) waw &r usdha &I aArg el / for checking heart beat
(D) SRl &% / for dialysis
16 | mreafas dafs gfafdes @R &7 & ygicd & & fafrse w9 &
FUANT & B

Ultrasonic diagnostic imaging typicaily employs a frequency range from

(A) 1 kHz to 15 kHz
(B) 1 MHz to 15 MHz
(C) 1 Hz to 100 Hz
(D) 1 GHz to 15 GHz
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o & s & o _ e §

Persistence of vision in a human eye is

(A) uH ae F 1/16a1 / 1/16™ of a minute
(B) ws ®hs & 1/16ar / 1/16" of a second
(C) wh fA=e & 1/6ar / 1/6 ™ of a minute
(D) U Tehy @ 1/6ar / 1/6 ™ of a second

18

Th FET o JHoRarerhed, 3¢ docdl 70 TXE Yo &9 @ F1 foraor
AT &

Transconductance in a FET indicates how effectively the input voltage controls
the '

(A) 3THCYT 4T / Output current

(B) 3+iYe WieRIershdr / Input Resistance
(C} 3mqfe areear / Supply voltage

(D) areear @y / Voltage gain

19

| (®)
(C) 2:1
(D)

HDTV & faw sifderear e &
Aspect ratio for HDTV is

(A) 3.2
B) 4:3

D) 16:9

20

ﬁiﬁﬁ?{tzﬁaﬁ%razgﬁ's’ﬁr@wﬁ, LED & 3

As compared to a silicon rectifier diode, an LED has a

(A) TIFIdT 39 dieedl TUT I=9a¥ ShelFd diecdl

lower forward voltage and higher breakdown voitage
(B) eI 319 dlecar aur fAeiay SF33= dreear

lower forward voitage and lower breakdown voltage
(C) F=aaY 39 ATTAT TAT IoAR FFTIT AeEAl

higher forward voltage and higher breakdown voltage

(D) 3=UIY 3T dlecdr IUT HFaR IHeE aloear

higher forward voltage and lower breakdown voltage
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TR & T T U N (RE GRECH ZanT Acdodd ®Y U FASC AT 9T B7

Which phenomenon is best explained by the particle nature of light?

(A) sToer wsta / Doppler effect

(B) grdieTT / Polarization

(C) v=r Taegash wsima / Photoelectric Effect
(D) Taadsr / Diffraction

22

Piclel Fr Folh g F T ycuey ¥ ¥ gfefda ardr &

The energy of a photon varies directly with its

(A) 3gicd / frequency
(B) aierded / wavelength

(C) 9rgetar / intensity
(D) Y¥e &\ (faans gedHT) / rest mass

e YHT FEl § 6 e & LH § §3 §U GAY Acah H |
e frar o Tehdr g1
Nortan Theorm states that an entire network connected to a pair of terminals

can be replaced with

(A) AR H Tl diecdT did F 1Y Tha oLl

a single voltage source in parallel with a single resistance
(B) HHEAIR # Ul 91U G & GIY Ushol Afaditiehar

a single current source in parallel with a single resistance
(C) #@ell # dlccal HId & AU Uhel Fiessar

a single voitage source in series with a single resistance
(D) el ¥ Thel YT F WY THA WfALTHAT

a single current source in series with a single resistance
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24

TE Tl F oeag-H AT H oAy 1T 1% & ar ses amda & Awe & T
. EWW

If the error in the measurement of the radius of a sphere is 1%,

then the error in the measurement in its volume is

(A) 1%
(B) 3%
(C} 6%
(D) 9%

25

e AT FIIAY & THRAT F T Hgfed WE o Ramare @39 g(Y)

& TIFEH # ITA gfedt ¥ Fo aReear & Fg ©

The phenomenon of some of the higher frequencies in the spectrum of the
signal a(ty appearing as lower frequencies in the spectrum of its sampled
version is called

(A) TawToT / distortion

(B) T3 / dithering _

(C) 3FuafAq / aliasing \
(D) FFdlcAHIOT I / quantization noise

26

M THTT FUT TR % ZART Rar ST §

Error detection and correction is done

(A) 3 TIEHRSF @RI aTRd I / by passing it through equalizer
(B) T IR 38 9N T / by passing it through filter

(C) ¥ha r wafdid & gv / by amplifying the signal

(D) w9t rfafear fer & ST ¢ / by adding redundancy bits

27

U drEdideh hd, THA Tohd d9 Fgalla Fa
A real signal is said to be even signal if

(A) gty = 2 xg()
(B) g(t) = - glt)
(C} git) = g(-v
(D) alt) = gty x g(t)
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el U ARG e Jur Al i AEensit oA dae w1 wed

28
The difference between any one measured value and the arithmetic mean of a
series of measurements is termed as
(A) T&#esT / Resolution
(B) uftergar / Precision
(Cy Ta=ferd / Deviation
(D) Ziar / Accuracy
29 | PCM ATSoRIST 1 HET A g
The correct sequence of PCM modulation is
(A) TefeRtor, gfa=ast, &5 / quantizing, sampling, encoding
(B) TrfreReul, issT, Ufaddl / quantizing, encoding, sampling
(C) gfc=ad, weleRtor, ®ise / sampling, quantizing, encoding
(D) s, Fiderre, TRNFIUT / encoding, sampling, quantizing
30 | v WeedAr edys ¥ @ees 95 TR, 394 FeT T &THAT §

Resolution Bandwidth of a Spectrum Analyser is its capability

(A) WETH b 3gied Jude HT faere/

to resolve smallest signal frequency separation
(B) STEaH Hend 3TATH & 3l i Taeest/

to resolve smallest signal amplitude difference
(C) THAR Hehd =0T 3T T feea/

to resolve smallest signal phase difference
(D) ST FHIUET 3T & fEue/

to resolve smallest time period difference

qEH TAMET A, 'Ogueser g & I g

In a microprocessor, the term ‘pipelining’ refers to

(A) oar @t BHIfeT #&T / address decoding
(B) HANT for@sm / memory writes
(C) HRT 3y & faAsules & GHT I Y 1 9o H
fetching next instruction while the current instruction is executed .
(D) 3msTrET HANT 9aT / virtual memory addressing
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(W]
fR]

T S aTelr ugfy g
For high speed bulk data transfer in processor based system commonly used

method is

(A) DMA (stsiwe #ANT wadH) / DMA (Direct Memory Access)
(B) =ifera fardmor / Interrupt control

(C) @iferr / Polling

(D) Forurgst IR & ANT 3fiFsT iaRoT

Data transfer through execution register

L3
[

Ioold ABHFIRR H Fg HA &1 v & forw fomem amar &

In advanced microprocessors, cache memories are used to

(A) VI aur SIer % el 6T ws # ol e &
hold the current active segments of program and data

(B) g = / boot program

(C) 98 wige & HSNUT g / store huge files

(D) TRi+ & HSWOT & / store only constants

R8232 T / RS8232 is a

(A) amesT IR & oo diRTer aw /
serial bus for data communication
(B) e HOR & foT gt 99 /
paraliel bus for data communication
(Cy #H=EH / MODEM '
(D) s1f&a f&F=0T / interrupt controller

VHDL @i & ofedr &t givop &7 fogor 2ar &

Entity declaration in VHDL code describes

(A} ATEYEr $ aTHe / architecture of the module

(B) WIZYS & Hroal™ H eAEEIRET / timing behaviour of the module

(C) =vzger argfr m/mm—o* ! external view/interface of the module

(D) 3w F s TERr & e / maximum propagation delay in the
module
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VHDL & ws giafadfR aeraq & ZaRT MR faer S d
In VHDL, bidirectional data bus is declarad

(A) 37/ In

(B} 33c / Out

(C) %/ Buffer

(D) ZeT 3T/ In out

VHDIL. & ‘ASSERT faXuT & 91T F faw o sar §
In VHDL, ‘ASSERT’ statement is used for

(A) ToeT welia T =90 & T / declaring flip flops

(B) WA & 30T & N Rtféer Jdrast qur 3fe 5w & fow
reporting warnings and error messages during simulaticn of model

(C) VHDL ®Is & §2erwoT / synthesis of VHDL code

(D) fesmzat &1 ¥ va Toiad / place and route of design

ey fBomsd & e yder fhe Ay awr e el @ ywnon, B 95§ d
& varets @ afd @ gsnfad e §
Propagation delay of flip flops used for counter design fargely affects the

speed of operation of

(A) 3ot () W3l [ asynchronous {ripple) counter
(B) deusIicle 3T HI3FeT / synchronous up counter

(C) TeumIiel® 83«1 H3eexX / synchronous down counter

(D)

o wd oy

eqdITdeh 3T 3 F3+eX / synchronous up down counter

g o EH % qAed 30 H 4 sfasmudl e @ qanr g Ghar aar &
o _ FEd§ |

A code in which each decimal digit is represented by a group of 4 binary bits
is '

(A) BCD (sadr ®12s &%) / BCD (Binary Coded Decimal)
(B) 3 15 / Gray code '

(C) TeH® 3 &5 / Excess 3 code

(D) ASClH &g / ASCIl code
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40

8-Toz =rer 8 991 8 e 9T 5 A0FIH T HEROLFT Fodr §1
A memory with 8-bit data bus and 8-bit address bus can store a maximum of

(A) 256 a=eH / 256 bytes
(B) 256 Rzw / 256 bits

(C) 1K =328 / 1K bytes
(D) 512 =2cH / 512 hytes

4]

ISTUNT HEAT & 3 F RS T § [T amavms gfazmad ey f siftwaw
gear &
The maximum number of binary bits required to represent a digit of octal

number is

(A)
(B)
(C)
(D)

A O N W

42

frefefed gt & & 758 # mseqe 359 gOT, IR qW Faw welsAge sew
fefer o gt ar _

In which of the following gates, the output is high if and only if alf inputs are
high

(A) NOT
(B) XOR
(C) OR
(D) AND
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3| SgEede W e w5 g
The primary function of the multiplexing is
(A) TR Fha & v Oegd & 9 U IR S99 F 99 e
to select one radio channel from a wide range of transmitted signais
(B) weh TR Aeiel &1 U Hehel T gfed IS & @ fHeem
to match the frequency range of a signal to a particular channel
(C) T Hehe 7 d3fATAR Bl FH FIAT
to reduce the bandwidth of a signal
(D) Ushel el Tole & 39UNET FT 8. 311 Hehdl 1 Yool & ST
to allow a number of signals to make use of a single communication
channel
4 | a9 T TFCHT Eeicd g
Spectrai density of the white noise is
(A) THIAT / Uniform
(B) wRENdishr / Exponential
(C) ar3dr™ / Gaussian
(D) warg@ / Poisson
45 | gymes S AR GHICHT B FgeATH BT §, B Fed &
The detector that minimizes the error probabiiity is called as
(A) FIeTdR WERAT FgEH / Minimum likelihood detector
(B) 3iTerepasr wenfaer Hy=e / Maximum likelihood detector
(C)y 3raaer wanfdeT wg@s / Mean likelihood detector
(D) wrefeos wHIaar §§a® / Random iikelihood detector
46

IR gAFEAEE _ WISwHed 10101 & SUATE HEG & §AW §

Hexadecimal equivalent of the decimal number 10101 is

(A) 15
(B) 23565
(C) 1010
(D) 2775
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47

A ST oamgien e @@ # amw qfy & wEed axar b
®_ wEdE

The medium which reflects high frequency radio waves back to earth is

(A) 33MgeTHASH / lonosphere
(B) ®HAAGHSH / Stratosphere
(C) Sig#zer / Biosphere

(D) &fts1HSe / Troposphere

48

BT casw A, WA 9 o ey I3menRa FOINRT B T BT 3907 @
ST RRT ST

In an Ethernet network whicﬁ device is used to forward the packets based on
P Address '

(A) &/ Hub

(B) Ta=r / Switch
(Cy fogsT / Bridge
(D} T3eT / Router

49

Pv4 Belede 9T g ge & AU fadsl faca o dcteie o warer frar omm &

orFeT glee & Wy wf FaR o vl Rear St ¥

How many bits internet address is assigned to each host on an IPv4 internet

-which is used in all communications with the host

(A) 64 few / 64 bits
(B) 24 RTw / 24 bits
(C) 32 few / 32 bits
(D) 16 faew / 16 bits

O O o

50

¥R % LAN ¥ fv IEEE 802.11 ATH ZART % 9§ JIBOH awellen 0 g

R T & _
Which multiple access technique is used by IEEE 802.11 standard for wireless
LAN '

(A) CDMA
(B) CSMA/CA
(C) ALOHA
(D) TDMA
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SRR = 12 mA 99 g = 04 mA TioreeT & Sy ara, et e

f lc= 12 mA and Iz = 0.4 mA, the transistor would have a DC beta of

52

qEavy draEL H, & TolU ‘TaE+ 3UAE & & gieAfase frar mar §

‘Collector drift region’ is infroduced in Power BJT to

(A) F8a YR IfSET I A0 W@l g / maintain large current gain
(B) ' S® YN T HH HT= & / reduce base drive current
(C) 3% ¥e & 2NwT §5d AT # dlocel I sl HeT &
block large voltage during OFF state
(D) RT Thel FI FH =T §q / reduce current crowding

53

WS U R  FOTeHE AT §

Load current-is always negative in

(A) § 9FR & 1% / Type E Chopper
(B) ¥ weR & f&wis / Type C Chopper
(C) o Wi, T&eaioh / Type B Chopper
(D} T YR & &1 / Type A Chopper

54

arhE wifeatea (A+B) (A+C) % GHEwe ’g

Logical expression (A+B} (A+C) is equal to

(A)  A+B+C
(B) A+B.C
(C) A.B+AC
(D) AB.C
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8051 ARSIATTH & Th 24. MHz iy &1 iy suder frar smar ¥ AT |
N U gfg e &g forar amar wwy gl
If a 24 MHz Oscillator is used in 8051 microcontroller, the time taken for

Timer to make one increment

(A) 1 u sec
(B) 2 u sec
(C)y 0.5 u sec
(D) 0.24 p sec

56

8051 g&mﬁ,mﬁ#mmwww

In 8051 microcontroller, which of the following statements is TRUE?

(A) % dAahas FT WY O 80H & FUT Ig Fae e T WX ThT Far §
Stack Pointer Direct address is 80H and it is only Bit addressable

(B) T Wehad 1 WHT yar 90H & T2 I8 Fde 915€ 7 3R Tha e ¥
Stack Pointer Direct address is 90M and it is only Byte addressable

(C) ¥ wehdes &1 Yl 91 81H & &7 Ig %hael e & 3 H%a #ar &
Stack Pointer Direct address is 81H and it is only Bit-addressable

(D) T T w1 1T UaT 81H ¥ 9T Tg Faer WS¢ F WX FHT war ¥

Stack Pointer Direct address is 81H and it is only Byte addressable

537

8051 gewieiaas & SCON Tower & fie €13 A SIAT Far &
Bit B3 in SCON register of 8051 microcontroller indicates

(A) 8d faT @ uIed HT [ received 8" Bit
(B) 8d foT &I 9T += / transmitted 8" Bit
(C) 99 fae = 9T FT&T / transmitted oM Bit
(D} 99 o< & gred =T / received 9" Bit
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581 C' A gdwae

A Preprocessor in ‘C' is

(A) aTFdTaF el mﬁﬁaﬁ%%ﬁmaﬁﬁmﬁﬁmﬁ
Thfad et & oI fday
a directive to compiler to perform things before the actual
compilation process starts
(B) W@ wishal & qf gl & a1 Fd w forurflyd s ¥ dfera
we & forw Ade/
a directive to compiler to perform things after the compilation process
(C) warfery & & S S iy & frsaiidg &ear &
a directive to the processor which executes the program
(D) HEFA & geaAHALA H IR ¢ v cAEACHF Ry

a commentary statement to enhance the readability of the program

39 C drenfET 7 9% fawer & uer __ ¥ A oot & T TR Srar &

The ‘break’ statement in ‘C programming’ is used to exit from

(A) ws Al [@ROT / an iF statement
(B) U= forel / a ‘for’ loop

(C) UF HEwA [ a program

(D) HEA () v / the main () function

60 | C wmmfEer ﬂﬁﬁﬁé%m%ﬁﬁérm%a’r ﬁ?&rmwn?»?r

T AT FRAT ST B2

fn ‘C programming’, if an Integer is to be entered through the keyboard, which
function would be used? | '

(A) Jem() / gets()

(B) ZH() / getche()

(C) FIT=Y() / getchar()
(D) THAR() / scanf()
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IF o /Rough work

1vs|
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